INZFEE (2025 )

EAVNEIY —EREE  MRREFTA(H—EX

EXAB TLATELIC SRR EXRT

20254 (B AM)
58 68 18 8A 98 108 18 128 18 28 38 48| &
FIAERAK 3N 3N 4N PN 7PN 5A 5N 5N 6A 6A 6A PN
I8 ﬁizﬂfﬁgﬁ 16 16 16 16 16 16 16 16 16 16 16 16
é Lok e 0 0 48 48 64 64 64 80 80 80 96 96 720
A
HUXA 0 0 0 0 0 0 0 0 0 0 0 0 0
AEHA) 0 0 48 48 64 64 64 80 80 80 96 96 720
AGE 0 35 35 35 35 35 35 35 35 35 35 35 385
RE XRE 1 1 1 1 1 1 1 1 1 1 1 1 12
X |ERERE 3 3 3 3 3 3 3 3 3 3 3 3 36
E BIEE 1 1 1 1 1 1 1 1 1 1 1 1 12
A |EREE 9 9 9 9 9 9 9 9 9 9 9 9 108
XiTEME 0 0 0 0 0 0 0 0 0 0 0 0 0
BEHB) 14 49 49 49 49 49 49 49 49 49 49 49 553
FMEEA—B) -14 -49 -1 -1 15 15 15 31 31 31 47 47 167
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EARFREN (609E L) + =N E (1088 L) = (7178 L)

FAEREN (666 B84 ) +1X M MNE (108B L) = (774 B4 41)

7,170M /8 x 180 =129,060M
7,740M /8 x 4H =30,960M

&5+129,060H + 30,960 = 160,020 H
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20264 (B AM)
58 68 18 8A 98 108 18 128 18 28 38 48| &
FIAERAK 6A 6A 6A 6A 6A 6A 6A 6A 6A 6A 6A PN
I8 ﬁizﬂfﬁgﬁ 16 16 16 16 16 16 16 16 16 16 16 16
é Lok e 96 96 96 96 96 96 96 96 96 96 96 96 1,152
A
HUXA 0 0 0 0 0 0 0 0 0 0 0 0 0
AEHA) 96 96 96 96 96 96 96 96 96 96 96 96 1,152
AGE 35 35 35 35 35 35 35 35 35 35 35 35 420
RE XRE 1 1 1 1 1 1 1 1 1 1 1 1 12
X |ERERE 3 3 3 3 3 3 3 3 3 3 3 3 36
E BIEE 1 1 1 1 1 1 1 1 1 1 1 1 12
A |EREE 9 9 9 9 9 9 9 9 9 9 9 9 108
XiTEME 0 0 0 0 0 0 0 0 0 0 0 0 0
BEHB) 49 49 49 49 49 49 49 49 49 49 49 49 588
F#E(A—B) 47 47 47 47 47 47 47 47 47 47 47 47 564
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fhEREABRELLE N, WXENTHREBYLGARTEH LL TS,

X ATEHFAEGAHEYD) DERFRUVERBMN (S—EXE) +ETOMEITONVTERHT S, )

FH EARFREN (609E L) + =N E (1088 L) = (7178 L)
FRAER(EER. F5H) EARFHAN (6668 G1) +1%5:MNE (1088 f51) = (7748 41)
1TA%Y  FH 7,170M /8 x 180 =129,060M

PERIAER  7,740M/H x4H=30,960M

&5+129,060H + 30,960 = 160,020 H




